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Transversal with congruent alternate
exterior angles means || lines
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Given
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Transversal with || lines means
supplementary same-side interior angles
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If two angles are supplements of the same
angle, then the angles are congruent
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Transversal with congruent
corresponding angles means || lines
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Alternate Interior Angles Theorem
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Corresponding Angles Postulate
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Alternate Exterior Angles Theorem
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Same-Side Interior Angles Theorem

DGoldsmith
Typewritten Text

DGoldsmith
Typewritten Text

DGoldsmith
Typewritten Text

DGoldsmith
Typewritten Text

DGoldsmith
Typewritten Text
BA || ED because two coplanar lines perpendicular to the same line are || each other.
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BA || GF because two coplanar lines || the same line are || each other.
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Two angles forming a linear pair are supplementary
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Given
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If two angles are supplements of the
same angle, then the angles are congruent
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Transversal with congruent corresponding angles means || lines
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Transversal with || lines means congruent corresp. angles
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Vertical angles are congruent
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Transitive Property of Congruence
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Transitive Property of Congruence
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Transversal with congruent corresponding angles means || lines.
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Lines r and s are NOT parallel.  Since angle 1 is congruent to angle 2 (because
they are vertical angles), x = 14/3.  When that value is plugged back in, the
measure of angle 1 and the measure of angle 2 = 28 degrees, and the measure
of angle 3 equals 154 degrees.  But 154 degrees plus 28 degrees does not equal
180 degrees, so the lines are not parallel.
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m || n from Converse of Alternate Interior Angles Theorem
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t || q since two coplanar lines perp. to same line are || each other
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s || t since two coplanar lines || same line means they are || each other
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t || q from Converse of Alternate Exterior Angles Theorem
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